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GENERAL PAPER ON TEACHING AND RESEARCH APTITUDE
Paper 1
Time Allowed : 1% Hours| [Maximum Marks : 100

Note :— The paper contains sixty (60) multiple choice questions. Out of which, the
candidates are required to attempt 50 questions only. All questions carry
two (2) marks each. S

1. Which of the following is not a greenhouse gas ?
(A) Carbon dioxide (B) Methane
(C) Oxygen (D) Nitrous Oxide -
9. Which Indian was awarded the Nobel Prize for Peace in 2014 ?
(A) Kailash Satyarthi
(B) Amartya Sen
(C) Venkatraman Ramakrishnan
(D) Malala Yousafzai
3. The author of the book “Time Machine” is :

(A) H.G. Wells (B) Gunter Grass
(C) Edward Luce (D) Eleanor Catton
4, Who was the “Man of the Tournament” for the Cricket World Cup 2015 ?
(A) Shane Watson (B) George Bailey
(C) Steven Smith (D) Mitchell Stare

5. Which of the following rights is a constitutional right and not a fundamental
right ? '

(A) Right to freedom of expression
(B) Right to freedom of religion
(C) Right to move freely
(D) Right to property
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T.B.C.

Article 40 under the Directive Principles of Staie Policy in the Tndian
Constitution provides for :

{A) Rights of minoritics to establish educalional institutions

(B) Free. and compulsory prim:ary education

{C) Education for weaker sections of the country

(D) Giving financial assistance to less advanced states

The judges of the Supreme Courl are appointed by :

(A} Prime Minister of India (B) President of India
{C}' Speaker of Rajya Sabha (1)) Ministry of Law and Justice

Who is the first Indian to become the World No. 1 in Badminton ?

(A) P.V. Sandhu : {B) Aparna DBalan
() Saina Nehwal | (D) Sania Mirza

To which age does the Indus Valley Civilizalion belong ?
{A) Bronze iB; Lead

(C) Iron {D) Nonc of these
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10.

11,

T.B.C.

What is the primary aim of Dhanlakshmi Yojana ?

{A) Prevent child marriages

(B} Iromote intercasie marr%agcs

{C) Change the mentality of seeing girl child as a financial burden
(D) Provide scholarships to bright girl students to pursue PG or Ph.D.
On whose philosophy is the current primary education in India based ?
(é'} Rabindra Nath Tagore (B) Swaini Vivekanan‘da

(¢} DNMahatma Gandhi (D} Sri Aurobindo

The attributes of objects, events and things that can be measured are

called :
(A) Variables (B} Data
(C} Qualitative measures (D None of these

: TTN4ET—B 6
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13.  Correctly match the following and answer from the given codes :

(I)  Manusmriti (@) Vatsyayana
(IT) Arthashastra (6) Bharata Muni
(ITI) Nyavashastra ‘ (¢) Kautilya

(IV) Kamasutra (d) Manu

Codes :

(A) @(a); (ID-B); (I)(e); (IV)(d)
(B)  (D-@); (IHe); (HD-(B); (IV)-(a)
(©) (D-(e); (TD-(d); (ITD-(a); (IV)-(b)
D) (@-b); ()-(e); (IID)-(d); (IV)-(a)

14.  Which of the following contributes the largest share of total energy production

in India ?
(A) Thermal energy (B) Hydel energy
(C) Nuclear energy (D) Solar energy

15.  Which state is called the “Sugar bowl” of India ?
(A) Madhya Pradesh (B) Himachal Pradesh

(C) Uttar Pradesh (D) Punjab
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16.

17.

L8.

9.

Which of the following countries is the largest importer of Iron ore from

India ?
(A) China (B) Australia

{C) DBrazil {D) Pakistan

Ab initio reters to :

(A} From the very beginning (B) High inilialive
{C) Things done later D} Without initiative

The term “censure” means :
{A) Ihshke
(B} Criticize harshly

() Unfavourable opinion or judgement

(DY Abusc

Who is the winner of the Besl Aclor awuard in 87th Academy Awards for the

film “Theory of Everything” ?

(A) Christain Bale (B} Eddie Redmayne

iC) Leonarde INiCaprio (D) Maithew McConaughey
The type of rear view mirror in a car is :

{A) Concave (B} Parabolic

{C) DTlain . (D) Convex

[.LB.C. : TTN4TET—B 10
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21. Total internal reflection takes place when light travels from :
(A) A denser medium to a rarer medium
(B) A rarer medium to a denser medium

(C) A denser medium to a rarer medium and the angle of incidence is greater

than the critical angle

(D) A rarer medium to denser medium and the angle of incidence is greater

than the critical angle
22. The mark stamped on the voter’s finger is made of chemical :
(A) Hydrogen peroxide (B) Carbon tetrachloride
(C) Calcium phosphate (b) Silver nitrate
23. Petrol is obtained from crude oil by the process of :
(A) Crystallization (B) Decantation
(C) Fractional distillation (D) Sublimation
24. Haemoglobin is :
(A) Carbohydrate (B) Nucleic acid
(C) Fat (D) Protein
25. Which of the following is called as “good cholesterol” ?
(A) High-density Lipoproteins (HDLs)
(B) Low-density Lipoproteins (LDLs)
(C) Very-low-density Lipoproteins (VLDLs)
(D) Chylomicrons

[.B.C. : 77/14/ET—B 12
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Directions (Q. Nos. 26 to 29) :

Read the following statements and use it for answering the questions that

follow :

A, B, C, D, E and F are students. The following statements describe what

they are studying :

(1) A is not a law student.

(2) B and E are not engineering students.

7, 5ol medbei-aeintans

(4) A and D are not engineering students.

(5) A and B are not alike.

(6) One student can study more than one subject.
26.  Which two students are medical students ?

(A) A and B (B) E and F

(C) Cand D (D) B and F
27.  Which two students are e;agineering students ?

(A) A and C (B) B and F

(C} C and F (D) B and E
L.B.C. : 77/14/ET—B 14
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(A) A 3R B (B) E 3R F
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28.

29.

Which student is both law and medical student but not an engineering

student ?
(A) E (B) F
() A . ' (D) B

Which fwo students are neither engineering nor medical students ?

(A} A and B (BY Band D

30.

31.

“B.C,

(C) F and C (D) B and E

Find the odd figure *:

(A) (B} O
© "\ i

Find the number of triangles in the figure given below :

(A) 8 (B) 10

) 12 - (D) 14 .

: T7T4/ET—B 16
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T2
. (A) E (B) F
(C) A : (D) B

29, @Y o 2E A @ AhyEfEmt & ok A @ sl $ e § 2
(A) A 3R B (B) B3R D
(C) F 3R C (D) B 3R E

30. fawm szl = w=fA. .

(A) (B) Q
© N\ o ——

31. & € 7 el # e B ¥ 27

A) 8 (B) 10

C) 12 (D) 14
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32.

The Red Fort and Jama Masjid were built by :
(A) Akbar (B) Humayun

(C) Shah Jahan (D) Jahangir

Directions (Q. Nos. 33 to 35) :

33.

34.

Read the following statements and use them for answering the questions

that follow :

A sales representative plans to visit each of the six companies M, N, P,
Q. R and S once during the course of one day. She is setting up her schedule
for the day according to the following condition :

(1) She must visit M before N and before R.

{(2) She must visit N before Q.

(3) Company she must visit is P.

If the sales executive visits S first which company must she visit ?
(A) M (B) N

C) P ' D) Q

Which of the following could be true of the sales representative’s

schedule ?

(A) She visits M third
(B) She visits M sixth
(C) She visits P first

(D) She visits R sixth

T.B.C. : 7714/ET—B 18
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(©) P D Q
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35.

36.

37.

38.

39.

40.

The sales representative could visit any of the following companies
immediately after P :

(A) M (B) N

C) Q D) R

Which of the following is incorrect ?

(A) WTO = World Trade Organization

(B) TRIPS = Trade Related Intellectual Property Rights
(C) TRIMS = Trade Related Investment Measures

(D) GATT = General Agreement on Trade and Technology

Which of the following taxes contributes maximum towards India’s tas

revenue 7

(A) Personal Income Tax (B) Corporate Tax

(C) Custom Duty (D) Excise Duty

If the angles of a triangle are in the ratio 3 : 4 : 5, then the smalles
angle is :

(A) 15° (B) 30°

(C) 45° (D) 60°

What is the place (location) value of 5 in 3254710 ?
(A) 5,000 (B) 5

(C) 54,710 (D) 50,000

Find the next number in the series 117, 104, 91, 78, ?
(A) 39 (B) 60

(C) 65 (D) 36

T.B.C. : TT14/ET—B 20



35. ﬁmuﬁﬁﬂ:ﬁp-iﬁwmmmfimmaﬁqf
A) M (B) N
© Q M R
36. frofefas § 3w w2 |
(A) TEgAAN. = fava =T H
(B) FA#ArmdwE = =R g d@fes gofy afisr
(€) A IMIBETATE. = R TEA FAT TR
(D) SUAZ = =R R awH § W FEEE |
37. Frfafas # @ fvw = ww ® X oo # ga@ sifaw 9rem 2w R 2

(A) =afFTE SEET (B) frm =

(C)-#Tma;z ’ (D) R Y&
38, AR BYF B FWM:4:5% T ¥ E A T S Fw oA Y 2
w15 (B) 30°

© 45° : D) 60°

39. 3254710 § 5 & writa (fiufq) sm & ¥ 2

(A) 5,000 (B) 5

(C) 54,710 | M) 50,000
40. - Zoft 117, 104, 91, 78 ¥ srrel dEwm ¥ BT 7

(A) 39 (B) 60

(C) 65 : (D) 36
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Directions (Q. Nos. 41 to 45) :

Read the following passage carefully and answer the questions 41 to 43 by

marking the correct options :

Goods and Services Tax (GST) Bill : The .Constitution (One Hundred and
Twenty-Second Amendment)_ Bill, 2014 was introduced in the Lok Sabha
on December 19, 2014 by the Minister of Finance, Mr. Arun Jaitley, The
Bill seeks to amend the Constitution to introduee the Goods and Services
Tax (GST). Con'scquerﬁly, GST subsumes various central indirect taxes
including the Central Excise i)uty, Countervailing Duty,l Service Tax, ete.
it also includes state value added tax, octroi and entry tax, entertainmenf
tax, etc. The Bill inserts a new Article in the Constitution to give the
central and state governments the concurrent power to.make laws on the
taxation of goods and services. However, only the centre may levy and
collect GST on supplies in the course of inter-state trade or commerce. The
tax collected would be divided between the centre and the states in a manner

to be provided by Parliament, by law, on the recommendations of the GST

T.B.C. : TT14/ET--B 22
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Council. The President must constitute a Goods and Services Tax Council
within sixty days of this Act coming into force. The GST Council aims
to develop a harmonized national market of goods and services. The GST
Council is to consist of the following three members : (i) the Union Finance
Minister (as Chairman), (i) the Union Minister of State in charge of Revenue
or Finance, and (iif) the Minister in charge of Finance or Taxation or any
other, nominated bg,.r each state government. Functions of the GST Council
include making moonunendt;tions on : (i) taxes, cesses, and surcharges levied
by the centre, states and local bodies which may be subsumed in the GST;
(ii) goods and services which may be subjected to or exempted from GST;
(iii) model GST laws, principles of levy, apportionment of integrated GST
(IGST) and principles that govern the place of supply; (iv) the threshold
limit of turnover below which Igoods and services may be exémpted from
GST; (v) rates including floor rates with bands of GST; (vi) special rates
to raise additional resources during any natural .calamity; (vii) special
provisions with respect to Arunachal Pradesh, Jammu and Kashmir,
Manipur, Meghalaya, Mizoram, Nagaland, Sikkim, Tripura, Himachal

T.B.C. : 77/14/ET—B 24



= T FUtEM % uiE B @ ge S orw wm el @ 9 uftwe
S ST HET BT 'aﬁ..qy.z“r..wﬁqam Evs O AR fEel # e uw
_mm:ﬁmwwwm% lﬁ’mﬂuﬁmwhmw@?m
TEE T : () wwd fEw ue=h (an%&q%vimﬁ),(ﬁ)ﬁammr%ma‘ﬁw
Wﬁ,{iﬁi)m.m%’mw,mﬁé £ e B L B ol o it e B 2 E
3 e T R | TR ofg B wE W c () T 7o W e Fre
S wed B el W R, G S e w, s o s,
(@) e SR FAW S SR & AW W g 4, (i) e Semd. wE,
| 311@ + fag=, shogd fife ’mam (s WStugA.) iy d frgg o g 'r%
W R i E )RR @ me fr 99 mw e dmed @
Hugdl. 4 yua fmn AR, () 8 o Wy # e shued &
w(bzsmmmémmwﬂ%ﬁvﬁm o,
(vii) soTEE Wo¥, SN AR &YHR, Wiy, e, fenm, amdve, fafes,

B, feme Ry @R swers & ded § e ymum i (vii) $R @

TB.C. : T4ET—B 25 | PT.0.



Pradesh and Uttarakband; :md.(uiiib any other matters. The introduction
of Goods and Services Tax (GST) is a very significant slep in the field
of indirect tax reforms in India. By amalgamating. a large number of Contral
and State taxes into a single fax. it mitig#lea cascading or double taxation
in a major way and paves the way for a common A‘nat.iomal market. From
the consumer point of view, the biggest advantage is in terms of a
reduction in the overall tax burden on goods, which is currently estimatoed
at 25-30%. lnt‘;r.(rductiox; of GST also makes Indian products compctitive in
the domestic and international markets, Last, but not the least, ihis tax,

because of its transparent character, is easier to administer.
41. What does the Goods and Services Tax (GST) Bill seek 7

(A) Amalgamation of a large number of Central and State taxes into a
single tax and reduction in the overall tax burden on goods, which is

currently estimated at 25%-30%
(B} Increase in the overall tax burden and levying of various taxes
(C) Aim to develop a smaller state market of goods and scrvices

(D) To give the central government the ultimate power over the state

government to make laws on the taxation of goods and services
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42.

43.

45.

TR.C. :

The GST Council will be constituted by :

(A)

(C)

The Prime Minister (B) The Finance Minister
The President (D) The CBDT Chairman

The tax collected under the GST bill will be dlstrnbuted between the Centre

and States under the laws framed by :

(A)
(B)
(C)
(D)

Parliament, on the recommendation of GST Council
Union Finanre Minister
President

Central Board of Direct Tax

The GST Council will constitute :

(A)
(B)

(C)

(D)

The Union Finance Minister (as Chairman)
The Union Minister of State in charge of Revenue or Finance

The Minister in charge of Finance or Taxation or any other, nominated

by each state government

All of the above

What is the implication of introducing the GST Bill ?

(A)

(B)

(O)

(D)

It paves way for a common national market
It brings about reduction in taxation on goods and services

It makes Indian products competitive in the domestic and international

markets

All of the above
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Directions (Q. Nos. 46 to 50) :

Read the following passage carefully and answer the questions 46 to 50 by

marking the correct options :

-

The Swachh Bharat Abhiyan, 'laul;ched by Honorable Prime Minister on
2nd of October in 2014, marks the beginning of the largest programme
on sanitation by the Government of India till date. The programme aims
to ensure access to sanitation facilities (including toilets, solid and liquid
waste disposal systems and village cleaniiness) and safe and adequate
drinking water supply to every citizen by 2019. Under the new programme,
the Nirmal Bharat Abhiyan (NBA) will be re-structured into Swachh
Bharat Mission with two sub-missions — Swachh Bharat Mission (Gramin)
and Swachh Bharat Mission (Urban). The two missions will fall under the
Union Ministry of Drinking Water and Sanitation (for Rural) and the Union
Ministry of Urban Development (for Urban). The gnit costs for toilets will
be enhanced for Individual Household Latrines (IHHLs) (from Rs. 10,000
to Rs. 12,000), school toilets (from Rs. 35,000 to Rs. 54,000), Anganwadi
toilets (from Rs. 8,000 to Rs. 20,000) and Community Sanitary Complexes
(CSCs) (Rs. 2,00,000 to Rs. 6,00,000). Given that one of the major

impediments in increasing the coverage of toilets at a satisfactory pace has
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been thg lack of funds, the proposed investment of Rs. 1.34 lakh crore for
rural areas and Rs. 62,009 crore for urban areas over the next five years,
is likely to go a long way in achieving the goals sét by the programme.
The unit costs for ITHHLs, the key componént of rural sanitation programmes
has witnessed a marginal increase. The increase in the unit costs of THHLs
(i.e. of Rs. 2,000) has been done to provide water availability, including
for storage, hand washing and cleaning of toilets. Funds for these new

initiatives will be raised through budgetary allocations, contributions to the

Swachh Bharat Kosh and thrbugh commitments under Corporate Social

Responsibility (CSR).

46. The probable two sub-missions of Swachh Bharat Mission are :
(A) Swachh Bharat Mission and Sundarl Bharat Mission
(B) Swachh Bharat Mission (Gramin) and Swachh Bharat Mission (Urban)
(C) Sundar Bharat Mission and Swachh Bharat Mission (Drinking Water)
(D) Swachh. Bharat Mission (Sanitation) and Anganwadi toilets

47. Budget sources for Swachh Bharat Mission are :
(A) Swachh Bharat' Kosh (B) Budgetary allocations

(C) Commitments under SCR (D) All of these

TB.C. : TT14/ET—B R
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48. The probable two sub-missions of Swachh Bharat Mission will be managed
e |
(A) The Union Ministry of Drinking Water and Sanitation (for Rural) and
the Union Ministry of Urban Development (for Urban)

(B) The Corporate Social Responsibility (CSR)
(C) The Ministry of Environment
(D) None of the above

49. Which of .the following statements pertaining to Swachh Bharat Abhivan is

not true ?

(A) It is the largest programme on sanitation by the Government of India

till date
(B) It refers to Nirmal Bharat Abhiyvan without any re-structuring

(C) Its objectives are to ensure access to sanitation facilities (including toilets,
solid and liquid waste disposal systems and village cleanliness) and

safe and adequate drinking water supply to every person
(D) It was launched on 2nd of October in 2014
50. By 2019, Swachh Bharat Abhiyan aims to ensure for every citizen :
(A) Sanitation facilities (B) Safe drinking water
(C) Adequate drinking water (D) All of these
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Directions (Q. Nos. 51 to 53) :

Read the following passage carefully and answer the questions 51 to 55 by

marking the correct options :

India-Australia Nuclear Treaty : On September 5, 2014, India and
Australia signed a MoU for ‘Cooperation in the Peaceful Uses of Nuclear
Energy’ during the Australian Prime Minister’s visit to India. The
agreement was signed by the Secretary, Indian Department of Atomic
Energy and the High- Commissioner of Australia to India. This agreement
was signed for India to use nuclear energy for peaceful purposes like
research, power generation, medicine, agriculture and industry and
Australia as long term reliable supplier of Uranium to India. Indian
Uranium resources are very small and more than 50% is imported. Indi.a
operates 20 mostly small reactors at six sites with a capacity of 4,780 MW,
or 2 percent of its total power capacity, aooordiné to the Nuclear Power
Corporation of India Limited. The Government hopes to increase its
nuclear capacity to 63,000 MW by 2032 by adding nearly 30 reactors
at an estimated cost of $85 billion. It currently has nuclear energy

agreements with 11 countries and imports Uranium from France, Russia

T.B.C. : T1/14/ET—B 36
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and Kazakhstan. 1 'kg of natural Uranium will yield about 20.000 times
as much energy as 1 kg of coal. Currently about 4% of electricity in India
is provided from nuclear power plants and 70% from coal. Apart from the
" environmental prdblems of, generating electricity from fossil tuels, the
fossil fuels are also fast depleting. To maintain a clean energy security,
Cmvemmt of India aims to generate 25% of electricity in India from nuclear
power plants by 2050. Though India has relatively large reserves of Thorium
Oxide, its Uranium reserves are comparativeiy modest. As of May 2014,
India has 2,11,473 tofmz_:s’ n situ U308 (1,79,329 tonne Uranium) reserves, |
It regularly assesses the “techno-economiec viability” of extraction and
development of Uranium resources. Not all Uranium deposits explored are
mined and processed. On various (méasions, mining and exploration of
'Uranium reserves have been discontinued because of the low economic _
feasibility, The Department of Atomic Energy (DAE) admitted in the past
that shortage of Uranium had affected the funetioning of the power plants.
In an answer to a question in the Indian Parliament, the government
stated, “The Country’s Uranium requircment in the 12th Five Year
}Plan [2012-2017] period is estimated to be 5057 tonnes. This includes
318 tonnes of Iow. enriched Uranium for Tarapur Atomic Power Station
(TAPS) - 1 & 2 and Kudankulam (KK) - 1 & 2" The Indian nuclear

T.B.C. : 7TN4/ET—B 38
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establishment maintains that the known Uranium deposits can feed nuclear
power plants with a capacity of about 10,000 MW only. After the 2008
NSG exemptlions, India signed agreements and contracts with several
countries for the supply of Uranium. So far, it has signed contractual
agreements with the companies of only four countries — M/s AREVA,
France (during 2008), M/s JSC TVEL Corporation, Russia (during 2009},
M/s NAC Kazatomprom, Kazakhstan (during 2009) and Mfs NMMC,

Uzbekistan {during 2013).

51. By 2050. India aims to generate .........co.ccevneenen.. o electricity in India from

nuclear power plants,
(A) 20% | (B} 50%
(C) 4% (D) 25%
52. The core agenda of India-Australia Nuclear Treaty is :

{A) To exchange various resources of nuclear power plants between India

and Australia

(B) To use nuclear energy for peaceful purposes and Australia as long term

reliable supplier of Uranium to India
{C) To establish joint nuclear power plants in both India and Australia

() All of the above
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94. Currently, the per cent electricity in India is provided relativély from :
(A) 4% from nuclear power plants and 75% from coal
(B) 9% from nuclear power plants and 70% from coal
(C) 79% f‘rém coal §nd 9% from nuclear power plants
(D) 70% from coal and 4% from nucloar power plants .
54.  Why is there a need to import Uranivm in India ?
(A) Because of lack of expertise for mining of Uranium in India
(B) Because India has no deposits of Thorium Oxide
(C) Because of low economic feasibility for mining and exploration
(D} Because of shortage of manpower

55.  With companics of how many countries has India signed contractua

agreements for Uranium supply ?
(A} Seven (B) Two

(C} Three (D) Four
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56.  During an evening party, when Ms. Black, Ms. Brown and Ms. White met,
Ms. Brown remarked “It is interesting that our dresses are white, black

or brown but for each of us the name does not» match the colour of the

-

dress !” Ms. White replied, “But your white dress does not suit you ‘!”.

Pick the right answer :

(A) Ms. White’s dress was brown
(B) Ms. Black’s dr;ss was white

(C) Ms. White’s dress was black
(D) Ms. Black’s dress was black

57. A lucky man finds 6 pots of gold coins. He counts the coins in the first four
pots to be 60, 30, 20 and 15 respectively. If there is a definite progression,

what would be the number of coins in the next two pots ?
(A) 10 and 5 (B) 4 and 2

(C) 15 and 15 (D) 12 and 10
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57

"B.

58.

59.

60.

Which one of the following does not find a place in the Preamble of the

Constitution of India ?

(A) Integrity : (B) Sovéreignty

(C) Morality (D) Justice

The terrorism, police and civil defence in India come under :
(A) Ministry of General Administration at Centre and State
(B) Home Ministry at the Centre and State

(C) Home Ministry at the State

(D) Home Ministry at the Centre

President of India holds the office for a term of 5 years from the date :
(A) of his election

(B) on which he enters office

(C) fixed by Parliament

(D) fixed by Election Commission
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